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. extraction of the square root = 4
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. extraction of the cubic root
. Interest
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5X x6=14. 92992
x(2x3)=92 985984
x3=1. 728

X = 2
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Debt for 6 years 1s 14koku gtogsyouggougsyakugsai
X 1s Interest.

14.92992—=5 X x5
14.92992=5 X x (2x3)
2.985984=x (2x3)
1.728—x°
1.2=x

X 1s interest. Interest 1s principal and 1interest.

1.2—1.0=0.2
Interest is 20%. %N B
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Was a problem from the numerical value that returns a
numerical value borrowed determine the rate of interest.
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People in the Edo period also solved it using prime factorization,
so | thought that the summation at that time was progressing.
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We could not make modern Japanese translation and
English translation smoothly, so we had a plan.
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Quoted Literature Isomura Yoshinori(1659). sanpo ketsugisho .1804 ye_arsve?sion
Nishida Tomomi(2010). Edo initial wasan selection the tenth volume one sanpo ketsugisho.
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If I lend you 5koku and lend a year’s interest in next year.
In case of this is continued, debt is 14kokugtogsyoggougsyakugsai
What 1s percent of this interest.

It 1s same as the previous answer.

2 /Z3E Kamata Nanami

Katou Nanami

According to the method, we put interest 14kekugto2syoggougsyakugsai

And we divide 1t by 5koku, so 1t become 298598984.
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This 1s excepted by extraction of square root, and excepted by extraction of

cubic root
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Bushi’ s debt situation

Bushi 1s Japanese knight. It means Samurai, too. In fact ,
Lower grade Bushi are very poor.

1 Why did they have debts?

Shogunate paid rice for Bushi. Bushi sold them to get money.
But, they were affected by recession. Price hiking and Rice price falling!
However, rice paid by shogunate didn’t increase. So, they must asked Hudasashi for debts

2 Who 1s Hudasashi?

Essentially, Hudasasi wasn’t moneylender. Their work 1s carrying Bushi’s rice
and selling on behalf of Bushi. Their debt’s annual interest rate is 20~25%.

3 After that...

Shogunate 1ssuanced Kienrei. This regulation is overrule debt in six years.
The others be one third. So Hudasasi quit moneylender.
Bushi’ s life is badly than past
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We can make this answer. % : &
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